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QUESTION 1

In your CDB, DEPTCDB, local undo is enabled. You successfully execute this command: FLASHBACK PLUGGABLE
DATABASE hrpdb to SCN 424366;

Which action must you perform next?
A. Open HRPDB

B. Take a backup of DEPTCDB

C. Take a backup of HRPDB

D. Open HRPDB with RESETLOGS

E. Open DEPTCDB with RESETLOGS
F. Open DEPTPDB

Correct Answer: D

Reference: http://dbaclass.com/article/performance-flashback-pluggable-databasepdb-oracle-12-2/

QUESTION 2

The TESTDB container database (CDB) contains two pluggable databases (PDBs), PDB1 and PDB2.
USERL1 is a local user in PDB1 and has the SYSBACKUP privilege.

Connect descriptors for PDB1 and PDB2 are mapped to TNS aliases pdb1 and PDB2 in thsnames.ora.

Examine these commands executed by USER1 when all PDBs are open:

LW wr

5 rman targst userl/oracle 4U@pdbl as sysbackup

RMAN> SELECT sysdate FRCOM dual;

What is the outcome and why?
A. An error is returned because the user is connected to a pluggable database.
B. The current date is displayed.

C. An error is returned because SQL commands cannot be executed from RMAN without using the SQL shell syntax:
soL™.

D. An error is returned because the user is not SYS.
E. An error is returned because the user is not a common user.

Correct Answer: C
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QUESTION 3

In which four situations does the RMAN DUPLICATE command use the "pull" method? (Choose four.)
A. when the USING BACKUPSET clause is used

B. when the SET ENCRYPTION clause is added before the DUPLICATE command

C. when the SECTION SIZE clause is used

D. when the number of auxiliary channels allocated is less than the number of target channels allocated
E. when the USING COMPRESSED BACKUPSET clause is used

F. when no auxiliary channels are allocated

G. when IMAGE COPIES are used for the DUPLICATE operation

Correct Answer: ACDE

Reference: https://docs.oracle.com/database/121/BRADV/rcmdupdb.htm#BRADV299

QUESTION 4

Which method can be used to migrate from an on-premises Oracle Database 11g to Oracle Database 12c in the cloud if
the on-premises platform is big-endian?

A. Oracle Loader-type external tables

B. remote cloning

C. RMAN Transportable Tablespace with Data Pump for all tablespaces
D. Data Pump Transportable Tablespace for all tablespaces

E. Data Pump Conventional Export/Import

Correct Answer: C

QUESTION 5

Examine these commands executed in the cdbl container database: Which statement is true about the c##USER1
account?
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5 sglplus sys/oracleficdbl as sysdba

S0L> CREATE PROFILE c##prof LIMIT
FAILED LOGIN ATTEMETS 4
PASSWORD LIFE TIME S0
PASSWORD GRACE TIME 3

PASSWORD TLOCE TIME Z;

Profile created.

SQL> GRANT SYSDBA TCO c#fuserl container=all;
Grant succeeded.

SQL> ALTER USER c#fuserl PROFILE c##prof;

User altered.

A. ltis locked for two days after the password expires.

B. It is locked if the password is not changed within three weeks.

C. It is locked for 90 minutes after four failed login attempts.

D. Itis locked after for consecutive failed login attempts.

E. It is not affected by the profile because the user has the SYSDBA privilege.

Correct Answer: D

QUESTION 6

You plan to execute this command:
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CREATZ TABLE sales

(prod id NUMBER (3) ,
annual sale amt NUMBEER (10, 2},
country VARCHERZ (4),
channel VARBCHERZ (1)

]
BARTITION BY LIST (country, channel)
(PAETITION pl VALUES ((‘USAf, ‘D"), (‘CA', *D'}),

PARTITION p2 VALUES ((‘Usa'", ‘I'), (‘Cca', ‘I'"})

Which statement is true and why?

A. It creates partitions P1 and P2 where COUNTRY is a single column partition key and CHANNEL is a subpartition
key.

B. It returns an error because only one set of multiple values can be specified for each partition.

C. It returns an error because only a single column key can be used for a list-partitioned table.

D. It returns an error because the AUTOMATIC option must be specified.

E. It creates partitions P1 and P2 where COUNTRY and CHANNEL are multi-column partition keys.

Correct Answer: E

QUESTION 7

Which two statements are true about a band join? (Choose two.)

A. The optimizer always uses the smaller of the two row sources to build a hash table on the join key.

B. It returns rows for SQL statements that contain an equijoin.

C. Itis a non-equijoin in which the key values in one data set must fall within the specified range of the second data set.
D. For each row in the first row source, Oracle probes the second row source for matching rows and joins them.

E. The SQL runtime engine avoids unnecessary scanning of rows that fall outside the defined ranges.

Correct Answer: CE

Reference: https://docs.oracle.com/en/database/oracle/oracle-
database/12.2/tgsgl/joins.htmli#GUID24F34188-110F-4245-9DE7-43954092AFEQ
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QUESTION 8

Which statement is true about the Automatic Diagnostic Repository (ADR)?

A. Space used by the ADR can be limited to a user-specified value.

B. Space used by the ADR is limited based only on the retention period.

C. The retention period for the ADR is set based on the space limit specified.

D. When the ADR reaches the space limit, it deletes incident dumps and metadata before deleting old core dumps.
E. Manual purging of all types of ADR files is allowed.

Correct Answer: E

QUESTION 9
Which statement is true about policy expressions?
A. A named policy expression is stored in the Data Masking format library.

B. A named policy expression applied to a column in a redacted table overrides the default expression of its redaction
policy.

C. Aredacted table can have only one policy expression defined on it.
D. A policy expression can be applied to columns in different redacted tables.
E. A named policy expression is stored in the Enterprise Manager Database Express repository.

Correct Answer: C

QUESTION 10

In TESTDB, U1 has SYSDBA privileges and the password Oracle_4U.

You recreate the password file:

$ orapwd FILE=orapwtestdb FORMAT=12.2 password=Oracle_123 ENTRIES=5
Examine the command and result:

$ sqlplus ul/Oracle_4U@testdb as sysdba

ERROR:

ORA-01017: invalid username/password; logon denied

What can you do to fix this error?
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A. Recreate the password file with the password set to Oracle_4U.

B. Change the password of U1 to Oracle_123.

C. Set the REMOTE_LOGIN_PASSWORDFILE parameter value to NONE.
D. Regrant SYSDBA to U1.

E. Restart the database instance.

Correct Answer: A

Reference: https://asktom.oracle.com/pls/asktom/f?p=100:11:0::::P11_QUESTION_ID:670117794561

QUESTION 11
Which two are true about the ADR retention advisor in Oracle Database 12c Release 2? (Choose two.)

A. ESTIMATE (SHORTP_POLICY = 192) estimates the space requirement based on the SHORTP_POLICY value of
192 minutes.

B. ESTIMATE (SHORTP_POLICY =192, LONGP_POLICY = 2160) estimates the space requirement based on current
ADR diagnostics file space usage.

C. ESTIMATE (SIZEP_POLICY = 209715200) estimates only the long retention policy.

D. ESTIMATE (SHORTP_POLICY =192, LONGP_POLICY = 8760) provides estimates that users can use to set
SIZEP_POLICY.

E. ESTIMATE (SIZEP_POLICY = 209715200) estimates the value of LONGP_POLICY.

Correct Answer: DE

QUESTION 12

In a Database Cloud Service (DBCS) environment, which pre-created user has sudo privileges to run certain root
commands?

A. grid

B. oracle

C. opc

D. nobody

E. oinstall

Correct Answer: C

Reference: https://docs.oracle.com/en/cloud/iaas/compute-iaas-cloud/stcsg/accessing-oracle-linuxinstance-using-
ssh.htmi#GUID-D947E2CC-0D4C-43F4-B2A9- A517037D6C11

Latest 120-074 Dumps | 120-074 Study Guide | 120-074 Braindumps 7/9


https://www.leads4pass.com/1z0-074.html
https://www.leads4pass.com/1z0-074.html
https://www.leads4pass.com/1z0-074.html

https://lwww.leads4pass.com/1z0-074.html

L Qads 4 PQSS 2024 Latest leads4pass 120-074 PDF and VCE dumps Download

QUESTION 13
In your database, DEFERRED_SEGMENT_CREATION is set to TRUE. You successfully execute this command:
CREATL TABLE sales 2016
(item no NUMBER(4),
sale date DATE,
amount NUMBER(12,2),
state VARCHARZ (2))
PARTITION EBY HANGE (=2ale_date)
SUBPARTITION BY LIST (state)
(PARTITION gl 2016 VALUES LESS THAN (IO DATE(“1-APR-2016','DD-MON-YYYY'))
(SUBPARTITION 41 2016 1list 1 VALUES (‘OR", “WA'),

SUBPARTITION gl 2016 list I VALUES (“AZ', “UI'))):

Which statement is true about the space allocated to the SALES_2016 table?
A. Two subpartitions are allocated to the q1_2016 partition when the first row is inserted into q1_2016.
B. A single subpartition is allocated to the q1_2016 partition when the first row is inserted into q1_2016.

C. Separate segments are allocated to the q1_2016 partition and each of its subpartitions when the first row is inserted
into g1_2016.

D. A segment is allocated to the g1_2016 partition but not its subpartitions at table creation.
E. A single segment is allocated to the q1_2016 partition and its subpartitions at table creation.

Correct Answer: A

QUESTION 14

Which three statements are true about the deferred invalidation clause in DDL statements? (Choose three.)
A. It defers invalidating dependent cursor when possible.

B. It cannot be used for bitmap index creation.

C. The CURSOR_INVALIDATION parameter always overrides the deferred invalidation clause.

D. It always overrides the CURSOR_INVALIDATION setting.

E. It cannot be used for creating a secondary index on index organized tables
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Correct Answer: ACE

QUESTION 15

You create and enable a unified audit policy on a database that has the default auditing configuration.

% sglplus sys/oraclefpdb orcl as sysdba

SQL> CREATE AUDIT POLICY aud syspriv
PRIVILEGEES SELECT ANY TABLE, CEREATE LIBBRARY
WHEN *‘S8YS CONTEXT (' 'USERENV'',’’SESSTON USER'')="TQE’'"’

EVALUATE PER STATEMENT;

Audit policy created.
SQL> AUDIT POLICY aud sSyspriv;

Audit succeeded.

The OE user, who has the DBA role, executes these statements.

SQL> CONNECT OE/rassword@pdb orcl
Connected.
50L> SELECT *

FEOM HR.EMPLOYEES;

What is true about the SELECT statement and why?

A. It is audited because unified auditing is disabled be default.

B. It is audited because, by default, the database is in mixed auditing mode with default policies enabled.
C. Itis audited because, by default, all user activities in the database are audited.

D. Itis not audited because the table belongs to another schema.

E. It is not audited because audit records are stored only when unified auditing is enabled in the database.

Correct Answer: C
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